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 Student Project: A Discrete Choice Model for Health Care and Moral Hazard 
 

This set of exercises uses the health care data contained in healthcare.lpj. 
 
A. We are interested in the variable HSAT, which contains the answer to a general questionabout 

the individuals satisfaction with their health. This is an ordered outcome coded 0, 1, …, 10. 
 

1. Using the entire sample, formulate an appropriate model for health satisfaction, 
andestimate the parameters of your model. Include ; MARGINAL EFFECTS in your 
modelcommand so you can obtain a listing of the partial effects of the variables in 
your model. You might want a more elaborate analysis of the partial effects, such as 
given by 

 
 PARTIALS ; effects: ..the variable & other variable = low(change)high 

      ; Outcome = one of the specific values that HSAT takes  $ 
or 
 PARTIALS ; effects: .. the variable | other variable = v1,v2,… ; plot(ci)  

      ; Outcome = one of the specific values that HSAT takes  $ 
 

(The ;Plot, which can be used in either command, will produce a plot of the partial 
effect with confidence limits.)  Now, using what we know to be an inappropriate 
estimator, fit your model by OLS andcompare the coefficients you get (a) to the 
ordered choice model coefficients and (b) tothe partial effects. 

 
2. The sample contains roughly equal numbers of men and women. The 

variableFEMALE is a dummy variable which equals 1 for women and 0 for men. You 
can usethis variable to deal with the samples of men and women separately. Test the 
hypothesisthat the same model that you specified in part 1 applies to both men and 
women, versusthe alternative hypothesis that different equations should be fit for the 
two sexes. Use alikelihood ratio test to carry out the test. 

 
3. You are uncertain whether income and education are significantdeterminants of health 

satisfaction. Test the hypothesis, separately for men and women.What do you find? 
 
B. We are going to analyze the individual’s choice of whether to obtain public 

insurance(PUBLIC). (We will motivate this in the next exercise.) This is a binary choice. 
 

1. Formulate an appropriate model and analyze this choice. What variables shouldappear 
in the model. Use both probit and logit models and compare your results. Does 
itmatter? 

 
2. As in part A. we are interested in whether the model differs for men and women. Fitthe 

model separately for men and women and test whether the two groups can bedescribed 
by the same model. Use a likelihood ratio test. 



 
3. A middle ground in part 2 might be to fit the same model for both men and women,but 

allow certain variables to impact the outcome differently. Examine this approachusing 
the education variable. Instead of having a single constant in your model, includethe 
two dummy variables FEMALE and MALE = 1 – FEMALE. (You must 
CREATEMALE.) Now, instead of including EDUC in the equation, include the two 
variables MALE*EDUC and FEMALE*EDUC. Now, fit your binarychoice model 
using the entire sample and with these four variables in the model. Requestthe partial 
effects. Do you find a noticeable difference between the marginal effectsfor the two 
education variables? 

 


